TRIIEE T - R
= [— T vz [~
EEER (8 3] BEAN &0
1 (1) 2mx5 (2 B8AxXx5 (3) 1445 @ 144
(1)
[ | | | T
© P ® ¥ ® S ) % ® x 2 QUAD=Es
| ‘ ‘ SEEMLT5,
(2)
| | | ‘ |
@ ‘ HEOLS | @ | E¥HRL | O L ‘ ® %5 ® | R
| | | | J ‘
(3)
7%= (@ ) UEFER-oTw5
ETIE L 7-R%)
)
(5z) = lim X 1
(- x) 1+iz+(—x) 1—§+—2
P X
_3_3
X
4 3 1
“;z‘+\/1‘;7
=
(4)
BB 1) | (NS OREE)
f'(x) = 3% +2ax+b : . i
fX)iz =3 THEME-25% L BDT orE  f(0)=x-3x"-9x+2
F3=0, f3)=-25 1T 0 3 B R R T T L BRT
L7295 T F'(x)=3x> —6x-9=3(x=3)(x+1)
2T+6a+b=0 e @ f’(x)=0 &"9)_5}:, x=—1,3
20+9q+3b= =25 oo ® 3B f(x) DERRITRD & 1272 D,
O, @%@E\nT x —1 3
f=—3: g = @+ o | = |0 |+
& o
ST [N\ |25
L7z > T 3WEE f(x) iX
x=—1 THKRE 7 x=3 THER/ME—25%2& Y,
SRS, 1
roT. a=-3, b=-9 o 53“,5“‘
2 8SHx 4
(1) | a= -1 = -5 (2) l (3)
| % 27 £ 324 , 81 & 108
2
(4) 0§9<£ , E7z<6?<27r
2 6 3284
% B (C =
&5
E = 701 ‘ SIS




3

THIEE

S bl

(D(i)15E(H)10&A(iH)10E
(1)

(i)
3EER)
XDOF—ZEZROnAOETH D,
X =2x,-3, X,=2x,-3,

(2(i)15H(i)158K

, X,=2x,-=3

7, }=%(x] X+ +x,) ThEMD
—)?=—’1;(X] +X, +-~-+_Xn)
=%{(2x1 —3)-}-(2)_«:2 —3)+-+(2x, =3)}
= %{2(x1 +x, +- +x,)=3n}

=21(x1 +x, +-~-+xn)—3
n

=2x-3 $xic X =2x-3
(i) sy =3s,

|
(i) -6

3=

(#D 2)

¥ BSHIR

(2)
(i)
Ea 1z a =S =2-1"+3-1=5

nZ2 orx a =S -5

(2n% +3n)- (n -1 +3(n—1)}

=dn+l - O

Ocn=1 £+5&, a=5 LiY
@ikn=1 O LE=ITHEY LD,

LizoT, —fRBIL a,=4n+1

[334]

(ii)

bn+l _b =a

n n

Xy

¥50{, } ORIt} =723,

X-oT
n=2 Okx

n-1 n-1
b,=b+> a, =1+ (4k+1)
k=1 k=]
:1+4--;—(n—1)n+(n—1)

=2n’-n - ©@

@Tn=1 &32&, b =1 L2V
@iIn=1 OLXITHLEY I,

Lo T, —fREIE b,,=2n2—n

|04

65=

an §8
AR

|
R e5K
2

7




 FRIEE IEfR - FREH

B (B ¥ BERE ZE

4 (1) 105 (2 20% ‘
(1) (2)

0A=(1,1,-1), OB=(4,-2,0) ThHzaHb AHIZFHOAB LIHBDT
@’=\/12+12+(_1)2=\/§ ﬁ{=sO—A+toﬁB‘ LB EHs, BHB,

L->T OH=s(i,1,-1)+1(4,-2,0)

ﬁ3|=\/42+('—2)2 +0% =245
=(s+4ns—2n—s)

OA-OB=1-4+1(~2)+(~1)-0=2
7 0C=(0,-1,-2) ThaHbd

5’:1\/i0A{2 |08 ~(0A - OBf .
2 - CH =(s+4t,s—2t+1,—5+2)

:%\/(ﬁ)z-(zﬁ)z—f:\/ﬁ - B Xtz CHLOA <T#zmb CH.-OA=0
(s+41)1+(s—2t+1)-1+(-s+2)-1)=0
Fhbb 3s+2-1=0 - @
¥/~ CHLOB <T#%#»5 CH-OB=0
(s+4t)-4+(s -2t +1)-2)+(=5+2)-0=0
+hbb s+100-1=0 - @

O, @& s=

£oT CTI=(i,§,Ej ERBDT
77777

2 2 2
‘61?‘:\/@) +(§) +(£) _4 7
7) \7) "\7) 77
kb B IRV 13

V=§\c—1{|.s,=§.;m-¢r=§

oy

0
a3 |
Jn
Or




TREIEE IR - REG)
BEFR (H 2] S#ZHR eE

S () 10m (@ 25m (B 8m (4 154 (B) 12=

(1) (3)
=IAH) -3=x<0 k& f(x)=—-xvJx+3
, . fla+h)-fla -3<x<0 T
f'(a)=1im h ) rxans, 346 , 3 32
e f )= £2T f(D=- 54
h—>+0 h h—>+0 h—->+0 : T . 3v2
Kb BEROFERIT  y—2 =T (x+1)
_ 0+h)-£(0) \hw—m | _W = .
I}LIH) h h—>—0 I}}»O 3 Frbb __3\/§x+£ *‘)l’l
x=012BWT, E{ﬁlﬁ%mﬂﬁkﬁﬁl75)%0)@5E7h—ﬁcw;b\ | Y 4 4
mE, FOVEFE L, | n
T2bbK flx) ix=0 THESFEETR, 2
sk T 5= pax+3ax
=~ [ ax+3dc+ [ xlx+3dx

TIT, Nx+3=t EBL tP=x+3 HFY 2t%=1

70, x LtOXISRITEKROL DT B,

(2)
EFBIIx=-3 THD, by -3 = 0 x 0 — 1
x=0 DEE y=xix+3 f 0 - 3 P N
x>0 T =+/x+3+x- l : =ox+2)
2 Jx+3 2\/x+3 e 5
1 Sz—j (t2—3)-t-2tdt+'[./_(tz—3)-r-2tdl‘
32‘\/x+3—(3x+6)ﬁ 3( +4) 00 \ 3
7 = A i =2 (¢ =32+ 2 (¢t =32 r
d 4(x+3) 4(x+3Wx+3 [t 32l -3
LoTZmLx >0, y">0 0 : .
. y>0. y flee] oflee] Hple
-3=x<0 OLE y=—xvx+3 LS i 5 5 5
. 3(x+2) . 3(x+4)
-3<x<0 T Yy =- y'=-
2Vx+3 4(x+3Nx+3
LoTIDEE Y'=0&FDLx=-2, £/ y"<0
LIEtinT, y', y' OBBERSTHE, MO0RE-><5 |
ERDX ST B,
7 3 | .. r - y (53X) ‘flfﬂzn kv +3n
k=1
y' _ + 0 — + " ko lk
; —llle—1ﬂ——+3
yn - . o + n=ena YN
1
Y 0 |—> 2 v 0 _T :Lx‘/x+’dx (
dt
EoT, x=-2 TRAKE2 x=0 THR/NMEO 2L 3, ToT, Ax+3=t EBLE P =x+3 DOFY 21521
y=fx)mr373bUToLBY, $h x LI ORIERTROE S D,
yi\
x 0 — 1
t 3 — 2
2
S — L2 df
(-2 2) (530 .[ﬁ(t g)rzt
I 12 ;16 = 5
5 s - 704
| B - =
(-30 (-20 © (1, 0) x| Efﬁ‘ (EI =y - I\ .
% B D4 8 & Eh 2 2r2




